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Teacher: 
	Mon
	Tue
	Wed
	Thu
	Fri

	1
	2
	3
	4
	5

	Malcolm needs to multiply 12 x 4 in his head. What strategy should he use? What is the answer?

	Draw a model to show ½.
	Find the missing number

______ + 305 = 505
	Draw a model to show 2/4.
	1/2 DAY

	8
	9
	10
	11
	12

	A rectangle made of square tiles has a length of 6 tiles and a width of 3 tiles. What is the area of the rectangle?
	There were 25 guppies in the store.   There were 5 in each fish tank.   How many fish tanks were there?
	There are 3 rows of daisies with 6 daisies in a row.  How many daisies?
	There were 16 lions at the zoo.  There were 4 lions in each cage.   How many cages had lions?
	There were 5 bags of candy with 7 candies in a bag.   How many candies is that?

	15
	16
	17
	18
	19

	There are 18 square tiles in my rectangle.   How long could the sides be?
	Find the missing number

535 -  _____= 231
	What number is 2 less than a 4 by 5 array?
	A rectangle has an area of 15 squares. It has a width of 3 squares. How many squares long is it?
	NO SCHOOL

	22
	23
	24
	25
	26

	NO SCHOOL
	Jen has to multiply 2 x 7 x 5. What two numbers should she multiply first? Why?
	What number is 1 more than a 7 by 7 array?
	What number is 9 groups of 2?
	Find the missing number

6 x 7 = ____

	29
	30
	
	
	

	There are 42 chairs and 7 tables. How many chairs at each table if they all have the same amount?
	John has read 38 pages in a book with 205 pages. How many more pages does he need to read?
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*Complete calendar. Show your work.
